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Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and emotional. This is an example of ALY
YISIY® A S| B g 3R W UT, 9afd asiPbal &) 79 3R Hia-THs v § Ry fan ug BT
IETERT &

1. Gender stereotype / folaT ®fearfedr
2. Gender discrimination / foiaT ig

3. Gender identity /fol3T THEIAT

4. Gender sensitivity / foiaT TacaTefrerdr

Correct Answer :-

« Gender stereotype / foI9T ®fearied

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an example of

UM Yad argAl @1 3% e g3 fRwrs usdt 1 39T ta Iererur H
1. Muller- Lyer illusion / ffeR— amaT &1

2. lllusion of perspective / IR &
3. lllusion of movement / 31T &1
4. Optical illusion / TTSC &H

Correct Answer :-

« lllusion of perspective / IRET HH

3) Autismisa______./ Gﬁﬁmw %I

1. Attention Deficit Hyperactivity disorder/ SAT-3{HId Sffaaferad faeR

2. Bipolar disorder/ a'ﬁ%fh' ICETEY (W %F&ﬁé?)

3. Oppositional defiant disorder/ ICEE] 3_6'\?\_5'; [CEacy (atﬁﬁr%ma B%e %FH\%T)
4. Neuro development disorder. / m{:@' [CEARICEaCY

Correct Answer :-

* Neuro development disorder. / &I [CERMCEACY

4) Ateacher can diagnose a child's consistent failure in school performance as: / T 18T, ﬁm?ﬂl’ F yeoid & v g A dAR FWEHAAT
HT 9T AT ®7 & 90 FhaT §:

1. A concern needs to be escalated to higher management / 3T 9T & fow RIAT & de= 6 3MaTHdT %’I
2. A disciplinary problem /Hﬂ'?rl'\qm HHAET|

3. A learning disability or special education need / AT 3rereraar ar @AY fRNew Hr 3maTear ?-'I

4. A need to change school /ﬁa}l’lﬂ'ﬂ' FColel ST 3TFTS AT ?’I

Correct Answer :-

« A learning disability or special education need / AT 3eardar a1 Ay e $r 3maeasar %l



5) Blind memorization is called . / 37 THIOIA (seliSs HAARBA) Fgera 2

1. Recitation / ¥R UI&

2. Rote learning /&t CarT rfeETeT

3. Meaningful learning / 3{?j‘q\uﬁ' KIBEIE]
4, Repetition / W

Correct Answer :-

« Rote learning / I€T CanrT 37feeTe

6) Which of the following is the correct order in lesson plan? / AFIfAf@T & & Fa1 UTeTHA Ao H T FA &2

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W—Wﬁ-gﬁm - Jll\c'qid”'i - [ HHJR

2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / W—W—W—W@W— e Wﬂ??lﬂ'
3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ 9X0TI- EI)?F-‘I'\T:ﬂWUT -m—mﬁ - e H?:I?:@'QFT

4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ W—T:!)ﬁ - ‘;TU'IT-H‘\WW— e Hﬂﬂé{?lﬂ - gﬂéﬂ]ﬂ'

Correct Answer :-

« Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ IRUIT-SRgfd-GdSliahR0T - Heidh - 8 YIS

7) The method of study used by Behaviorists was: / sqggRanear AT YgFd eI #r ‘?ﬁf-lﬁ' off:
1. Survey/ TAETOT

2. Introspection/ JTcHTALT&TOT

3. Case study/ & TTar

4. Observation/ 3T cliehel

Correct Answer :-

« Observation/ 3Tdellehsl

8) The religion to which the individual child belongs is part of the ./ g SR AfFqera goar wafta gar § ag Cal
fewm 1

1. Inheritance / El'?ﬂﬂ?m

2. Prenatal environment / Waqg:‘r gTaRoT
3. Social environment / TTHATToTEh TATATOT
4. Physical environment / Hifas oafavor

Correct Answer :-

« Social environment / ATHTISTH TATIIOT

9) Personality tests must be/ SITFdcd JU&TVT AT =T AIRT:
1. Gender biased/ TCRT T&raTait

2. Have as many questions as possible./ 38F I 3HF T2 arel
3. Reliable and valid / faeasiir 31X der

4. Innovative / sTaTARY

Correct Answer :-

« Reliable and valid / fg2a=iar 31T 39



10) During the process of child development, / =3 & %@ $1 yfhar F ke,

1. Specific functions are followed by general functions. / fafRrse F, AAT FAT F T FY AT L

2. Both general and specific functions happen simultaneously. / IS 3 fafdrse FT el Th T gl &l

3. General functions are followed by specific functions. / ATHIT Frg, Taftse st & a6 FT s g

4. General and Specific functions are not dependent on one another. / TTAT 3R fafse FT W—E‘;}ﬁ ) AR 78 &

Correct Answer :-

+ General functions are followed by specific functions. / TTHT &, fafdrse wrat & g 7Y a1 §
11) Dalton Plan does not have:/ Steee ISl (3‘1'«1? TAlTeT) Fast &

1. Self-paced learning / TqF TIG=AT

2. Time table / FAT-HRONY

3. Co-operation / AT

4. Freedom / TFATT

Correct Answer :-

+ Time table / HHI-AROM

12) Understanding what is right and wrong forms part of the development. / TEY 3R Taa i gHET e, A R
1 feea &1

1. Cultural / HIERicR

2. Social / HIHATSTH

3. Moral / aifde

4. Vocational / SATAATIAHR

Correct Answer :-

« Moral / aifde

13) According to Maslow, which of the following needs are referred to as the Deficiency Needs? / ATEST & AR, A T raegwant & ¥
FR FAT H AORIFAT F T H FAT AT §?

1. Belongingness, Esteem, Safety, Self-actualisation / 3T9eTqeT, HTe-IdT, &I, m—ﬁaﬁ

2. Safety, Belongingness, Esteem, Self-actualisation / Qfl’Ta:IT , 9T, AT I, m—m

3. Physiological, Belongingness, Esteem, Self-actualisation / Qm, Y9ATI, AT I T, W—m
4. Physiological, Safety, Belongingness, Esteem / QI{ITReh, Y&, 39eATTeT, A=l

Correct Answer :-

« Physiological, Safety, Belongingness, Esteem / ?Tlﬂﬁ?, {I,TE’HT, 39ATI, AT AT

14) According to Erik Erikson an individual goes through developmental stages. / TR& TREHT & IR, TH CUEn )
s o @ §F Tear B

1.7

2.9

3.4

4.8

Correct Answer :-



15) How are learners who do a task with performance as the goal are characterized?/ &g F T H YT & 9T TF F F ame
Rranfdat i Rdwar w7 &2

1. They engage in work to do better than others./ @ qm’r T 9K Il o ToIT FA H TelooT 8l gl

2. They see mistakes as an opportunity to learn/ ¥ ITATAAT H AE@A F 3GAW & & H @I E.“I

3. They want to be seen as smart and intelligent/ & e 3k FHER @A agd gl

4. They compare and judge their performance with others /T {\':R)f F AT AUA e Hr @?«IHT FA %’ 3R m SIS %l

Correct Answer :-

« They see mistakes as an opportunity to learn/ ¥ ITIfAdT HI VW F G & & F W@ &l

16) A child is unable to learn a new way to play Uno because he has already learned a different set of rules. What could be the reason for this? /

TF ToAT Foh Qo & AT vw ar alier des 7 ywwd § w2t ag g @ & rerer fwer @@ 9@ 1 sHeT T SR
& aFar 2

1. Spontaneous recovery / Hgal gﬂ'm

2. Retroactive interference / EI'LW 3Ry
3. Proactive interference / W@ﬁ Ay
4. Delayed effect / foaIfEad woTa

Correct Answer :-

o Proactive interference / 34?11?!?3@ 31T

17) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall .This approach of interpreting age by height of
an individual can be attributed to a child in /Ueh d<dT hedl % & 3qaT aEa St 5 e e %, dg 39 9T CEf) a’
FHaT §, S Fad 4 e a1 ¢ FH wfFad fr Fag f cuew FF F 39 Rl # # 799 # GFAER
SET AT qFT R

1. Formal operational stage / S Tfhardd rawi
2. Sensorimotor stage / LA ITTAT

3. preoperational stage / qﬁ IiRITcHS 31T

4. Concrete operational stage / ﬂ;(_ff TihATcHAS 3T

Correct Answer :-

« preoperational stage / f@' TihdTcHs aEdT

18) Which of the following does not negatively affect prenatal development? / Tl # § T Se T @ q;& g gl Rew Fi
APRICAS T & gifaa ¢ Far §2

1. Caffeine / ST

2. Exercise / SO ATH

3. Alcohol / R

4, Radiation / fafenyor

Correct Answer :-

« Exercise / SIIATH

19) Which of the following is not a type of prelinguistic speech? / Trfaf@a & @ #l9 & R F=1 AfRTafes T Hﬁ' %?
1. Cooing / frae

2. Babbling / SSdSI=T

3. Telegraphic speech / ColldITTheh HTYOT

4. Crying / el



Correct Answer :-

« Telegraphic speech / COIITTtheh HTYOT

20) Which of the following is an example of fine motor skill? / T & @ Fi 3?5‘3 AT Flerer F1 TH 3qlg{or %‘.’
1. Climbing / d@-l

2. Hopping / iw_eﬂ%f HLAT

3. Running / a’fgaT

4. Writing / foree

Correct Answer :-

e Writing / IGLeai

21) What is the part of memory that stores previous experience? /ﬂ% FT 9g fevar o Roa 317;313' Hr mﬂ' CXGI %”
1. Procedural memory / FTshdTcHe Fﬂ'ﬁ

2. Non-declarative memory / ﬁT—En'WﬂFFIEF@:Iﬁ

3. Semantic memory / Yy FJ:(I_'%

4. Episodic memory / CIcsIEICD (m) Fﬁ[ﬁ'

Correct Answer :-

« Episodic memory / EIRsIEiCa (Uﬁ'm%a;) !—T(I_ﬁ

22) What is the term used to denote a thinking strategy that may lead to a solution, but also may cause errors? / W I R # FAERa

& & v fFw gqufa &1 39ater fFar Srar § S weTaTe & W B, W 3w At ot o w82

1. Intelligence / E:j,?{j%l'

2. Syllogism / W (Rreaifarsa)

3. Algorithm / Teal R

4. Heuristic / Wﬁm (Tad: alren)

Correct Answer :-

+ Heuristic / TaTISATIASh (Fdc: QM)

23) What is experiential education? / HJHATHS e Far &

1. A curriculum with well defined students learning path / Ueh UTSIhH @ 3Tl TRE & SMET & ATIH Fr AT gReia §

2. An educational philosophy based on the idea that learning occurs through experience / Ueh AferF gt sq dOR W 3maRa % & 3rfeera,
HIHd & HIEIH F gIam B

3. It is learning through experiments / g 3-1?1'3-1? & ATETH T R g

4. Learning through continuous practice / faRaR 3791 & 3feareT|

Correct Answer :-

» An educational philosophy based on the idea that learning occurs through experience / Ueh Aferw gt sq dIR W) 3maRa % & 31feera,
HIHd & HIETH § ger B

24) What characteristics are depicted by permissive parenting? / 31??1133'7 Tel=l-gTyor ARt Fia-dt RAvaw _RfET gt ?f?
1. High warmth, high control / 3Td 3cdlg, 3Td IGEEI
2. High warmth, low control / 3Td 3cdlg, IGr=RCEE)
3. Low warmth, high control / G} 3cdrg, 3=d IGREMN]



4. Low warmth, low control / f&%=T 3carg, e Hg=or

Correct Answer :-

« High warmth, low control / 3T 3c@Tg, oot foz=oT

25) Who among the following does not propose a developmental theory involving stages of development? / Arafafad & ¥ s e &
o & 3 e Reuia #t weqa 7@t Far?

1. Freud / %1Is

2. Bandura / asj:r

3. Piaget / s

4. Erikson / UReFgel
Correct Answer :-

e Bandura / a??\?T

26) People with linguistic intelligence possess? / $THTS g{ﬁlﬂ?ﬁ ¥ 9 afFaal # Fia- eq7ar gt 2

1. sensitivity to numerical patterns/ TEITcAS qaf-]ﬁ & gfd Hdgsteferar

2. abilities to produce rhythms/ oII/dATel SeIlel T &TFAT

3. appreciation of the forms of musical expressions/ FINT FI fFTTFAAT & FAT HT TIIEAT

4. sensitivity to the sounds, rhythms and meanings of words/ €afa, er/drer 3R rsal & 32t & gfa Tag=Teferar

Correct Answer :-

« sensitivity to the sounds, thythms and meanings of words/ €afe¥, eIg/drer 31X 2rsel & 3t & gfa Gagsreierar

27) What is the main purpose of state certification of teachers? / Retal FI UsT AT & FT HET 35T FAT
34
1. To exclude from the profession those who are mentally unhealthy/ o RIS U 9 3RaR % G% Y CIRES ETC ml

2. To exclude from the profession those not trained in pedagogy/ fRremRmET & UfATAT AET gt arel T IA F e FeT
¥ v |

3. To monitor the quality of teacher training institutes/ TRI&Teh WfA&TOT HEATAT Fr 0T H FAIRTA FEAT|

4. To provide for a uniform standard of entry-level teacher competency throughout the state/ 9 Ted H FaT &R &
fRI&Teh AT T Th HATT HAleTeh el A & fov|

Correct Answer :-

- To provide for a uniform standard of entry-level teacher competency throughout the state/ I Tg # 9T TR &
fRI&Teh AT HT Teh HATA HleTeh el A & fov|

28) which of the following tests involves the analysis of stories and interpretations of the underlying personality? / m

gdieron § | feed saftifga aafdaa ot waifral ok arensit 1 fazevor mfae g 82
1. Thematic Apperception Test / fa=r 3iTcaAaTa qdrafor

2. Ink-Blot Test / TITEI-EIeaT GT&T0T

3. Word Association Test / 2T6¢, TS III&TUT (T8 THITATAT CIT)

4. Story Telling Test / PYUT AT TRieor

Correct Answer :-

. Thematic Apperception Test / TS TcHaETYeT gT&ToT



29) Which of the following is correct sequence of motivation? / frafafad & @ &9 ar sifikom 1 ﬂé’f PH %?

1. Drive, need , goal directed behavior, goal achievement, drive reduction / Wﬁ—c\", 3TaIhdl, oI&d IGEARGH cqdgR, ol&d m%.r, gulie, &/
2. Need , drive reduction, goal directed behavior, goal achievement, drive / 3TdRThdT, Yol &g, o8 mﬁ qdg, olad W, ol
3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / 3TdRIAhdT, Wﬂ’c\’, quiG &, ofa R Sgdg, ol&d 3uafeys

4, Need ,drive, goal directed behavior, goal achievement, drive reduction / JTaTehdT, YUIIG, ofed AT TGER, &g 3Telfed, Yol g

Correct Answer :-

e Need ,drive, goal directed behavior, goal achievement, drive reduction / 3TdRThdT, Q'Uﬂ?:,’, e AERa SIdgR, o8 3Tcl[eY, Yol EIRsE

30) which of the following describes relevance in relation to a new topic?- / fafaRad o= TP AT fowg & 9y # yrfredar
BT Ui BT 82

1. The perception that something is worth knowing/ KIEEGIRED gm Sl AT %’

2. A real life situation / Ueh aTEdI{aeh Siiael ohr Fofd

3. A story related to the topic/ vy ¥ gefg & FElell

4. Same for all learners in any context/ Ry Y dest & it et & v o=

Correct Answer :-

o The perception that something is worth knowing/ KIEEGIRED SW Selet AT ?-'

Topic:- General Hindi (L1GH)

1) ueh 3R area

¥ WIEH & SIhd &,

St T HeTew @

T HEIW B o ¥
AN I TG UL
TR 3991 @18 fafgar
U, W9, urt ok weTS
EIECK]

B9 A bad U8 3AiPpa &
o v 9 Y et

TN W B Y Wordt B
3R 98 URY gaT # ad §¢
uféral 9 viel W Rrar
3R TH = BT U9
gav S H Ui

T RRaT B

ITT UL P UgHT 1 I W 1 YA PT Ii? I8¢
U B WaE & Sifed F g frad 91 @ 2

1. &ael gl

2. Fadl SGe

3. &R

4. 9efr 3R Scer =t

Correct Answer :-

. gt 3R seer gEr

2) Ugel Sierd! fiher STaHSRT 394 ardt fireaeR A SRR TH. T SRR A 1929 # gidigs &t U diadt fbew ‘< dle’ W iR STH a7 &

St fred g @1 5501 Wit TR T & U ABIT ATed B STYR FTHER Si U fhe B Uedyl TS| 3 Aed & H WA w1 & @l

forem o o frw 7T0 1 U ey # SRR A W 99 FET UI-'gUR U IS Adle d@ gl o1, TaeR 8 o1, WiaeR 78 41 37 G9! Foeid gt

4t1 3ERR A frew & T & g wd Ft ¢ g1 e & Wia & wgw FIF arg-aaan, sRA R arfeE o1 gwaara fear w1 srard oy &

éﬁ;ﬂ;wmgwﬁmwﬁﬁrﬁmmqﬁWW|wﬁs—cqﬁugﬁmmaﬁmm.W|mwm—‘%%ga%mwmﬁ,&m
awpa gl

ITE T B YghR 14 YD Y Y= HT Ik T3
UR: 399 A B Wha # are BT SuH0T 6t §?



1. arafoet
2. e
3. ddelm

4. gRAATH

Correct Answer :-

3) Ugel diad! fred STawsRT S99 ard fireeR A SRR TH. ST SERR A 1929 ¥ gidigs t UH diadt fhed ‘=0 dle’ Tt iR STHF a7 &

St frer M @) g1 Wit TR T & U ABT ATed B YR FTER S U fhe @Y vedy TS| 3 ed & B8 A Al & @l

firem o 9 1T 7TU | U §evey # SRR A I 9o FET UT-"gUR U IS Hdle AW A8l o1, FadR 78 AT, WiaeR 78 411 39 Ja! Foeid gt

ft1 3ERR A firew & T & e wd Ft 4 g1 e & Wha & wgw IIF arg-aaan, sRAE R arfE 1 gwaara fbar w1 srard oy &

gﬂ:ﬂwmgam?ﬁwﬁawﬁmmﬂmﬂﬁWW|wﬁﬁqﬁuﬁmmaﬁmw.mlmwm—‘%%@%mwwﬁ,m
a@a gl

ST T $ TGP 1 I Y U BT IR JAT_T
UL: STAHSRT fren & frear 42

1. @I FETeY 3ERR TAH. =

2. 3.dr. fedy

3. TG

4. 55 .UA W

Correct Answer :-

4) ugeh et frer STaHSIRT S99 ard firesR A SRR Ta. ST SiERR A 1929 U gidigs #t Us dtadt fhew ‘< dle’ &t iR STH A= &

et e 791 3 351 Tl | IR TTHE F T ABUT AT B SMUR TSR 17 U e B TewhyT §915 | 59 ATed & H3 TH w6l & @l

forem o o fiw U1 U Sevey F SERAR A I 9o FET UT-"gUR U IS Hdle A gl 4T, FadR g o1, WiaeR 78 41 39 Ga! Foeid gt

ft1 3ERR A firew & T & g wd Ft Y g1 e & Wia & wgw IIF arg-aaan, gAY R arfE 1 gwaara fear ) srard oy &

%ﬂ:ﬂwmgwﬁmawﬁﬁrﬁmmqﬁWW|wmﬁmmWﬁmm.W|mwm—‘%%gm%mwmﬁ,m
GIELEAN

I T B TGHR 2 TS T YA BT SR Iagy
: I U Fer $Y U1 $T MUR 9w U412
1. T BT @

2. 3598 q HIS

3.995 PR &

4, YRET WHT & TH AHoT dACh

Correct Answer :-

o URAT WHT & Th b Alch

5) Ugel sierd! fihed SMTAHSRT I9H aTdl fiFea®R A SRR TH. T SRR A 1929 ¥ gidigs &t U diad! fhed "< dle’ Tt iR STH a7 &

et frer 791 3 351 Tl | IR T F TP ABUT AT B SMYUR TSR 11 U e B UehyT 9915 | 39 ATed & &S TH 56l & @l

firem o o 1w TTU| U evey # SRR A W 9 FET UT-"gUR U IS Adle AW A8l 4T, adR 8 o1, WiaeR 78 4T 37 Ga@! Foaeid gt

ft1 3ERR A firew & T & e wd Ft 4 g1 e & Wha & wgw IIF arg-daan, sRAE R arfE 1 gwaara fbar a1 srard oy &

Wﬂ?ﬁ?ﬁﬁﬁﬁﬂﬁﬁﬁﬂﬁﬁﬁﬂlﬁmﬁqﬁmmﬁmw.mluBaTWHTﬂT-‘%%@%Wﬂ?Wﬁ,GFR
GIELEAN

ST TR $ TGP 1 I Y U BT IR AR

w=: frw fipen &t Swe @ aaTgR SRR R 3 dierdt fred g 3 5907 862
1. §F< 3% 3T

2.9 i

3.3 @ IS e

4.7 oIS

Correct Answer :-



6) Ugdl diad! fred SMTAHSRT I ard fireaeR A SRR TH. ST ERR A 1929 ¥ gidigs t UH diad! fhed ‘2 dle’ Tt iR STH a7 &

et e T BT 351 it | TR TRE & TP ASNY A1ed B ATYR TR Sei -1 fhed B Uehy1 g€ | 59 A1ed & Pg M 4l & f

firem o 9 1T 70| U ey # SRR A I 994 FET UT-'8UR U IS Hale AW 8! UT, MaPpR 6 o1, WHaeR 76 411 37 Ja! Foad gt

8t SRR A fred & A & e e ot 4= 7| v & Ifta & wew A9 arer-aaan, sRETEY SR arafes o1 sxaare fear wan sirema 3Ry &

gﬂ:ﬂwmvgaamﬁmawﬁﬁwﬁmmqﬁmnmﬁﬁmﬁmmmaﬁmm.mlmwtﬂ-‘%%w%mu?w&,m
aeagl

ITE T B YgR 14 IS T Y= HT Ik Tagu|
T: g e e 32

1. JTEIFART

2.3 &rer A

3.5 & IS A&

4. T s

Correct Answer :-

7) g Sierd! fiher STaHSRT 394 a1dl fiFereR A 3ERR TH. 11 SRR A 1929 ¥ gidigs #t U diad! fhed ' dle’ T iR STH A7 &

qad! fired 91 P 531 Rl | YR THT F TP ABIIY ATedh B SMYUR TS 17 U fher B UehyT 9915 | 59 Aled & & TH Sl S @i

firer ¥ @ 1T Y| U SR W SRR A IW I FET YT-"FHAR U B3 WG AGP gl 4T, MapR g1 AT, Fiasr T8 411 37 qaa! 3 gt

Ft1 ERR 7 frew & A & forg W 91 ¢+ T | fvew & wifla & wew §iF arg-aean, sRETY iR arafeM &1 gwaue fBar war| rar oy &

gﬂ:ﬁwm@ﬁmﬁamﬁﬁwﬁmmqﬁWW|ﬁﬁmﬁug@rmmaﬁmm.mlmwtﬂ-‘%%tﬁﬂ?mwmﬁ,m
qea gl

ITE T B YgdR -1 IS T Y= HT Ik Jagu|
R I T i e 82

1. WA

2# 3R gH

389
4.5 ofr ar

Correct Answer :-

8) UEel dierd! fibed MEHSIRT M aTa frereR & 3ERR . 311 SRR A 1929 # gicliqe ¥t v diad fven it die’ it iR SAP A &

Tt e a9M B 5581 Wit | TR TTHT & TP ABUT ATed B STYR TATHR S5 AU fhed &) yehyr T8 | 39 Aled & B3 A w4l & @l

firem o 3 fRw U1 U Sevay A SIERAR A I 99 FET UI-'TUAR U BIS Adlg a@® 81 AT, MaepR L o1, WiiaeR 7 411 37 G9! Foaea gt

Ft1 3ERR 7 frew & T & forg W #1 ¢+ T | frew & wifta & wew $iF aregr-aan, sRETY iR arafer $1 gwauTe fBar mar| ran oiRy &

;i;ﬁ::ﬂﬂT?ﬂﬁWﬁﬁ?iﬁﬂﬁWﬁﬂﬂﬂﬁWWlsﬂfﬁmﬁ'mm&zﬁmaﬁsﬁ.w.W|mwm—‘%%m%mwmﬁ,m
GlEGEAN

T I B TEHR A TS T YA BT SR I@ST
W e &1 fad 2 #2

1. gfa

2. 300

.0

4. JrYer

Correct Answer :-

9) Ugel Siad! fired SMAHSIRT I ard freaeR A SRR TH. ST SRR A 1929 ¥ gidigs t UH St fhed ‘< dle’ T iR STH A7 &

! fired 91 P 531 Rl | YR THT F TP ABIUY ATed B SMUR TS 17 U fher B UehyT 9918 | 59 ATed & & T4 Sl S @l

firer A @ 1T MU U SR W SRR A IW I HET YT-'FHR U B3 WG AGP gl 4T, MapR gl AT, Fiasr 78 411 37 qaa! e gt

Ft1 ERR 7 frew & A & forg W #1 ¢+ g7 | fvew & wifla & wew §iF argr-aean, sRETY R arafer o1 gwauTe fbar war ran oy &

gﬁ:ﬁwm@ﬁmawﬁﬁwﬁwmqﬁWW|ﬁﬁmﬁug@rmﬁmaﬁmm.mlmwtﬂ-‘%%w%qmwmﬁ,am
qeagl



T T B TEHR 2 TS T YA T SR IqST
u: e &1 wEd T 82

1. BT

2. faerar

3. ot

4. s

Correct Answer :-

10) et Sia fred SMAHSRT 19 aTd fre®R 4 SRR Th. T SRR 7 1929 T gicliqs Bt U sad! fpen =it A It 3w 3% 7= o
et e T B 5531 Wit | URA TTHT F TP ABY AT B YR TATHR S8 U fred B Uehy 915 | 39 Aled & &3 A 4l S @&l
firem & 3 fiw 101 U $evay F SIERAR A I 99 FET UI-'TUR U BIS Adlg A@ -8l 4T, TaeR 8 o1, FiilaeR & 411 39 gaa! Foaeid gt
9t1 SRR A frer & T & g wd 3t ¢ Tt e & Wfia & wew FIF arer-aan, s ok arafer o1 gwaara fbar war) srard oRT &
TfiaeR a1 HaeR & Wada wu I it &1 71 78 s1ar w1 339 fren & ugd urfae a1 s&, TH. W1 Ugdn T AT- '€ € Gel & A1H R WR, 3R
AP aEARN

IR T B UghR 14 YD Y Y= HT Ik I3

U ‘e T o faer & wwifia 82

1.9

2. [HET

3. st

4, e

Correct Answer :-

o fre

11) gt S fred STAHSRT a9 aTd freeR & SRR T, - SRR 7 1929 ¥ gicliqs &t U sad! e =it At 3wt 3w g% w1
et fired T P 351 SRl | TR T F TP ABY AT1ed B SMYUR TS I519 U e B UehyT I8 | 39 A1ed & B TH 4l F @i
fire ¥ @ 1T M| U Sery W SRR A IF I9 FET YT-'FHR UM BI WG AP gl 4T, MapR ) AT, Fiaesr T8 4TI 37 9aa! Y3 gt
§t1 SRR A frer & T & g wd 3t ¢y Tt e & Wfia & wew FiF areg-aan, sy ok arafrm &1 gwaara foar war) smard omRT &
Tfiaer a1 Haer & Tada w0 I el &1 7 78 s1ar w1 339 fvew & vgd urfrae a1 S, TH. W UEEn T AT- 2 € Gl & ATH R WR, 3R
P A aFa Rl

I T B TGHR A2 TS T ¥ BT SR Iagy

uH: ‘PR’ Weg 50 woag @ a1 82

1. FR

2. 3R

3. 508 § IS G

4, rea

Correct Answer :-

12) et St fired SMawSRT a1 aTd freeR 4 SRR T, T SRR 7 1929 ¥ gicliqs &t U siad! fren =it A 3wt 3 3% 7= o
et e M B 5587 Wit | URA TTHT F TP ABY AT B ATYR TATHR 3214 U fred B yehy 915 | 39 Aled & &S A 4l S @l
firem o 3 fw 101 U $evey F SIERR A I 99 FET UI-'TUR U BIS Adlg A@ -8} AT, MaaR 8 o1, TiilaeR & 411 39 gaa! Foaeid gt
9t1 SRR A frer & T & g T 3t o Tt e & Wlia & wew FiF arer-aaan, s ok arafer o1 gwaara frar wan) srard oRT &
Tfiaer a1 NaeR & ada wu I i &1 7 78 s1ar w1 339 fven & vgd urfrae a1 S, TH. W1 UEEn T AT- '€ € Gl & ATH R WR, 3R
AP aHARN

IR T B UgdR 14 YD Y Y= HT Ik I3

U uae {6 vea &2

1. 579 & P g

2.5 37 & fow amar g

3.5 9& & 3ET amar g1

4.5 9& & DT F ar B



Correct Answer :-

o ST 9& & G F e g

13) Ueeht Sia fre STEHSRT a1 aTd fre®R 4 SRR Th. T SRR 7 1929 T gicligs &t U siad! fren =it die It 3 g% 7= o
e e T B 5581 Wit | URW TTHT F TP ABNY ATed B YR TATHR ST 30 fred B Uehyl T | 39 A & B A 41 S @l
forem o 3 fiw 101 U $evey F SIERAR A I 99 FET UI-'gUR URT BIS Adlg A@ -8l 4T, TaeR g o1, WiaeR 78 41 37 ga@! Foeid gt
9t1 SRR A frer & T & g wd it ¢y g1 e & Wiia & wew FIF arer-aaan, sRA R arafeE o1 gwaara fbar ) srard oy &
TfiaeR a1 NaeR & ada wu I faft &1 7 78 s1ar w1 339 fren & ugd urfrae a1 s, TH. W1 Ugan T AT- '€ € Gel & A1H IR WR, MR
AP aEagl

ITIE T B Ughx 14 I Y Y= HT Ik I3

U ‘d9ar R W #7 ¥ 82

1. f&dr =+t

2. HER &I

3. et &1

4, 3TE- BREAT AT

Correct Answer :-
o 3RE- BRAT AT

14) gt S fred STAHSRT 91 aTd fre®R 4 SRR T, T SRR 7 1929 T gicligs &t U sad! e =it A It 3 3% 7= o
et e M B 5581 Wit | URA TTHT F TP ABUY AT B YR TATHR S5 U fred B yehy 915 | 39 Aled & &S A 4l S @l
firem o 3 forw 101 U $evy A SIERR A I 99 FET UI-'TUR U IS Adlg d@ -8} AT, MaaR 8 o1, Tiilaer & 411 39 gaa! Foaeid gt
9t1 SRR A frer & T & g wd 3t o Tt e & Wlia & wgw FiF arer-aaan, s ok araf o1 gwaara frar war) srard oRT &
TfiasR a1 NaeRr & ada w0 I el &1 a1 78 s1ar w1 339 fven & vgd urfas a1 S, TH. W1 UEEn T AT- '€ € Gl & ATH R WR, 3R
AP aHARN

IR T B UgHR 14 YD Y Y HT Ik I3

u=: ‘gieiigs’ fhed gielt 82

1. AAEg & Sl fihed

2. [9eR & st fhed

3.gelIgs # it et

4, Forehdl H il fthodl

Correct Answer :-

15) Ugeht S fre SMEAHSRT a1 aTd freaR 4 SRR T, §T 1 3ERR 7 1929 T gicliqs Bt U siad! fpen =it die It 3 g% 7= o

et fbed a9 Bt 351 Wit TR ST S e ABRY ATed B ATYR FHIER 319 U fhe Bt Uew T 9918 | 39 Ale®d & $s A <4l &

firem o o fow 101 U $evey # SIERAR A I 99 FET UI-'gUR URT BIS Adlg A@ -8l 4T, TaeR 8 o1, WiaeR 78 41 39 gao! Foeid gt

gt1 SRR A frer & T & g wd 3t ¢y g1 e & Wia & wgw FIF arer-aan, gAY R arafE o1 gwaara fhar wan) srard oRT &

gﬁgnmgwﬁmwﬁﬁ?ﬁquﬁWW|wﬁmﬁﬁﬁmmaﬁmm.W|mwm—‘%%qm%mwwﬁ,m
qared 81

UG TV B UGHR AN U T YA BT I« Iagy
T R g B -

1. deHa

232l

3. gl

4. dcqH

Correct Answer :-

16) Ugd! S e STAHSRT 991 aTd e & SRR T0. S 3ERR 7 1929 A gidligs @1 uw diad! fiber =il dte’ I& ok 37 w9 |
et fre 79 3 351 Tl | IR TTHE F T ABIT AT B SMUR TSR 17 AU e B YewhyT §915 | 39 ATed & H3 TH w6l & @l
forem o 3 fiw 701 U $evay # SRR A I 99 FET UT-'gUR U IS Adle d@® gl 4T, FaeR g o1, WiiaeR 78 4T 37 G9! Foeid gt
4t1 3ERR A frew & T & e T #t 4y g1 e & Wia & wgw FIF arer-dan, sRA R arfe 1 gwaara fbar ) srard oy &



%ﬂwmgwﬁmawﬁﬁrﬁmmqﬁWW|wmﬁmmWﬁmm.W|mwm—‘%%gm%mwmﬁ,m
B aPa eI’

I T B TGHR 2 TS T YA BT SR Ia1gy
R gREEE e wwifla 82

1. 9d I

2. T& YHR FH AT

3. a6 Had

4.3 ¥ FIS A

Correct Answer :-

17) usht 3T Sger

¥ sprErT & SifR §,
I TH AFRY &

O FEY F T §
& at waer A ua §
Tr=a §

T A Fao Ig AHiea §
& s g i et
FAY A F GAY Sl B
3t g |l gar & Ra
gferat #r grEt W) fawar
3R uF gor & T
gE & 7 gl

gAY far 21

ITEFT YSIRT H GG A1 I8 S dTel TR FT Sl TR0
UeeT: HIEI & SRR FEl dF o § 2

L g & IS A&

2. 31 |/ AT deh

3. Uk HEIGY @ g8 HEGW s

4.THh W § g ;W ds

Correct Answer :-

. T HG g AW dh

18) uaft 3iiT FIEer

¥ serErT & SifR
I TH AFRY &

ZAY HERY F A §
& at waer 7 ua §
Tr=a &

T A Fao Ig AHied §
5 T e A R
FAY A F Gy Sl B
3t g |ler gar & Ra
gferat #r gt @ faar
3R uF For & T
gE & # gl

gAY fAar 21

IHEFT YSIRT HY GG A1d IB S Tl TR FT Sl TR0
Re: AT & SIfRY AT A § ?

L. fasdr

2. a8

3.8dr



4, X

Correct Answer :-

19) uaht 3T SIEeT

¥ e F SR €,
N TH AgRY ¥

FEY FEEY F A §
& ot waer a4 ua §
TR 3 or§ Rrefsat
Tr=a §

T @ Fad Ig A §
& s g #r et
FAY A F GAY St B
3T g |ler gar & R
gferaY i gt W fawar
3T ww g & T
@Y qur # el

FAHY fAwar 21

IUEFT YSIRT FY Gga A I8 W Tl TR FT Sl TR0
geaT: g, 93, el A Sl @7 SEER 82

1. THS

2. 3SR

3. §9&H

4, Y

Correct Answer :-

20) vah 3k ST

¥ s & e §
N TH AgRY ¥

TAY HERY F A §
& at waAe A ua §
Tr=a &

T O Fad Tg A §
& s g v et
FAY AU F GAY Sl B
3T g |ler gar & R
gferaY i gt W fawar
3T ww g & T
@Y qur # e

gAY far 21

IUEFT YSIRT H GG A9 I8 A Tl TR FT Sl TR0
weeT: ‘" T gTard Fla | g ?

1. &7

2.91g

5. gty

4, gFse

Correct Answer :-



I9YFA TGIIT F GGHT A1 & AT aTel ToA FT el ARV
9ee: ‘UgTS’ FT qATIATT AE & ?

L RER

2.3k

3. faR

4. 93d

Correct Answer :-

22) uaft 3R S|

¥ ST ¥ I E
N TH AU

TAY HERY F A §
& o FHer A 9§
Tra §

& ot Fad UF HFd §
& s g i et
A AU F GAy S B
3T g |ler gar & R
gferaY f gt W fawar
3R uF g & AT
@Y qur # e

AR far B

3U4FT YGIRT H GgH A9 I8 W Tl R FT Sl qTaRU
T ‘Hiw  FAT AT ¢ ?

1. JTAT o3t

2. 377 ST

3. 3@ fearer

4.5 q FIS A

Correct Answer :-



@Y qur # e
TR far B

394F YGART F GGH A1 I8 AW T R FT Sl AU
gee: Rrefeal # Fia sfgar & ?

1. ael dmlr

2. %del U3

3. Shael G

4. IR Tl

Correct Answer :-

o 3RIFT T

&7 A ¥ g Hiwa ¥
& s gor v ey

AR &u F gAY Ao B
3R a8 WReT g1 F R gw
ofErat #r et o Rt §
T ww g F aw

@ & o

s foar §

IYYFA GEGIIT FI GGHF A1 & S dTel WA HT el TR0
YO T G FT HIT GEY A H AT & F ORar § 2
1 gy
2.9
3.gar
4. 9=y

Correct Answer :-

& ol ¥ad g AP &
& T o v Ry

A &u F gAY Ao B
3 a8 aker g1 # R go
afEvat #r iEt W Rt §
T v U F aw

qE aur F T

s foar §

IYYFA GEINT FI GGHF A1 & S dTel WA FT el TR0
9ee: STEe HT qAIEr) § 2

1. e

2. STelst

3. 89



4, QiTaT

Correct Answer :-

26) gaf 3y ST

¥ EraE F SR €
N TH AgRY

FEY FETXY F A §
& ot wae A ua §
TR 3 g Rrefsat
Tr=a §

T O Fad Ig HFA §
& s 3o i et
FAY A F GAY Sl B
3T g |ler gar & R
gferaY i gt W fawar
3w g & AT
@Y qu # el

FAHY fwar 21

IUEFT YSIRT HY Gga A IB S Tl TR FT Sl R0

YeeT: TE GIY TH qU § g 4 rAd gan wgad St § 2
1. 82T & #TT & gaRT

2. 9GeT & EaRT

3. HeJST EaRT

4. gfgrat & 9@l & g@anr

Correct Answer :-

27) uafr 3R sreer

¥ s & e §
N TH AgRY ¥

ZAY HERY F A §
& o |Hgr A 9§
TR 3 g Rrefsat
Tr=a &

T O Fad Ig HFA §
& s g v et
A A F GAY Sl B
3T g |ler gar & Ra
gferaY i gt W fawar
3T ww g & T
@Y qur # e

gAY far 21

IUEFT YSIRT HY GG A1 I8 S Tl TR FT Sl a0
geaT: 93’ HT qIIardy § ?

1. Jeold

2. gt

3. qreq

4.987

Correct Answer :-



I9GFA TGIIT F GHT A & A aTel WA FT el a0
wRaT: Oy reg F i @ T §?

2.5 & HIS &

3. @R folar

4. Efeler

Correct Answer :-

29) usft 3R |

¥ ST ¥ S E
N TH AU

TAY HERY F A §
& o FHer A 9§
Tra §

& af Fad Ig HiFd §
& s o v ey
A AU F GAY S B
3T g |ler gar & A
gferaY i gt W fawar
3R uF g & AT
@Y qur # e

gAY far 21

3U4FT YGIRT H GgH A9 I8 W Tl R FI Sl (U
W GEGA Hiaar F1 adw ofdw § 2

1. H9TaTT & SIfRT

2. ITATT T ool

3.5 & IS QT

4. &t 3R sEe

Correct Answer :-

o ST & SIfRY



@Y qur # e
TR far B

34T YGIRT F GGH A1 I8 AW T R FI Sl ARy
9ReT: ST &1 3§ ?

1. GG FGeATell

2. forer

3. #iepatr

4. fSafrermr

Correct Answer :-

Topic:- General Sanskrit(L2GS)
? eclrent afsear srenfafisera Teted el gaad -

FafagaAl T, Fafaef T TdgHhe: |
Fafdd AMPENT | FARGTT T AeGAR: |
Faldd el | FafGT o fgcameey, |
ATy et F I @ 7 T @A ||

o ST A PATHTSARI AT |
BTANT HSUTacHq 8 TaTiaaed ||

HIE! STl FHerfad Hv¢ Tdeae AT exfd |

| FEITEH
| o




TeTA:
STEAT

4.

3.

Correct Answer :-

eellehl gfScar IreNfAfser Ieaed Ygacal FIId -

Fafagal T, Fafaef 7 udgHhe: |
FaTId AThERT |, FAGTY T AMeTGAR: |
Faldd el | FARGT 9 gy, |
HATd! PRt 7 I @ 7 T J@A ||

o ST T PIATHTSIEIE AT |
BTaNT FSuTacHq o TaTiaaed ||

T HET USET IFHY: |



2.

3.

4.

UR=dc Ufdcar Ueaed ﬂr.gdgrdi g -

3ty fopfAE A A™H? a7 32ad- AifdeEr ygrif=r faeva: e
{1 AT 9eSTae IT-EIY-Fefa-Hg fed- 3TN 9219T-
ITTNT S Selecdd| fhed T Uerii=ll fa=ISTom ona+ ieavor
AT & aw faftrser afdd A A9 sfafa, d =Aae agfed S|
3rfeichel faeael HORET Tawuda yRafdas| e arsaur Yedes
Aledd, Ugleled ARCI-ATTH q|-§.|__,e.||u1' T\ faegar yepmr: fraa, et
disded, AN deded| (AT FUAT IELAT HIST: Tehel
BRIehToleT ShIRITAT TEAIUT ATAT SHideicd | Td TARET ST TR
fAREIhdr: faleA=T| JTRRMEUAT AeeEy GIH=TNYT fohddl| UdlsT Areelel
3T IU TaaEd AR, A, aea, smyonfa o sid aeef:
| f[a=Eda $UAT g FACTANT go¢ FHAT:, TFR ST
TAGHN: TG ad RRTeat aﬁwaﬂﬁra’rsrﬁ@ THAT: | TOTATETOT-ToA0T
aT HEHATH d'{-dodlci gug. T | GUATETUT-TAUT & AGAGTAIOT
GSCHET: | T TATUIRTY docd IRATTH| Tded Holsd: HEcdT AeFcl
gRfEd: 3s7ad]

AT AT A SaHTRTRH-

Correct Answer :-



Y&

3.
, AgAT

Correct Answer :-

¥ el ufscar srenfafdsera goaed A FIId -
37T 3Toiet &TH ST T T&T0T |
3 g oA g 9 3721 HeCHAAT: |
gauigsal gl Reafed qesres: |
RT hl{deded T Sl Afad ||

maﬁﬁg:a’rmﬁl

DIHET

1.

) AeTET
| UAE
kS Eip =

4.
Correct Answer :-

3y

Correct Answer :-



8

)
IRTOC gfScdl TR AGHcH AT -

UY: IRTA T | 3T AT A FSIYSITRA_ 3 | 3T A
fpear * sfd | 3@ YzINia: caeufdaEey gt AHfEd 1 3
RrFhaargeause  3fed | TY: sfagraufag: 3fea | 3T
fAsTUShTTRT FIYSIT darerd: Ied | FSAYSA: ¢ giteea: ' 5T
UG | 29 ATy I RSed | U4 A a8y icHa:
#afd | fafseey 3uR Yseread faied | davd a#Ad: faied a&
Ul eedl | A€ afeivld: gfdser: aomfd: sRed | dawr Wd: Aed)
faTsta |

THET  3ATAGY I Tdd: AT | Gaded A Jffguad: 5fd |
vdd 9id Ied TATURROTH TAld: aeadhl | gddid, 959 e
3gdicd | T 3 THAE G T Hel: e | 3
AAGACI ¢R8 Tleald S 31ed | 319 TaRegdd 3T gdd |
yaaey faY feurcar GAeded T9F as¢ qeFad | 3HE a
fAcagReaet srafd | ydaea 3R gRafa qonfa adeq | 3ifeAe aa
SATET: foolehl: T Hiod | IATH HAHNT el ¢t ggid | T &
Afegell 3T | #IGH 39Td: 3elsh AT Aled | IH AT © fARkEAa
Sfefard: faead |

IBEEIE]



39favd

2. -

,, FETRAH

HHARHFHIH,

4

Correct Answer :-

10)

AU UGEd :,rdaﬁgbﬁ‘lqaqﬂowqaﬂﬁ‘d-

P et afsear srnfafisern geEd e gaad -

Fafagal azar, Fafaefa T adsheg: |
FaTdd ATPERT |, FARSTT T AeANGAR: |
Fafdd HeAall , FafeT T fEcamF=eT:, |
Aered! e F oI @ 7 T @ ||

o ST 1A BIAAHI N AT |

giauT vracHa &7 varfAaed ||

m‘gm’mmﬂﬁémﬁl



Correct Answer :-

. ST gTe:

13) -
2ellenl gfcar srenfaféserar 9o Agecal Yaad -

Fafaga! AT, Fafaeiy T TdShe=: |
Fafdd eMHERT , FAAGT T AeAGARI |
Fafd AT | FafIe 7 fGeamtey, |
ATl et F v g™ o T @A ||

o ST I BIATATHTSEIEA AT |
gTaNT evTacHa T Tarfaaed ||

UY: gEg:W & I0rfd |

_ arareff
qg:

3. ™

CIE ]

4.



Correct Answer :-

_ hrareff

14) .
eellehl gfScar IreNfAfsery 9oy Ygaccl YIId -

3TUTATH 37oTol §-WH TSI < T&To |
3 W oI g W faT 3720l hecHsr: |
gauigsar yiedl feafed qesea: |
QLT Fclldeded TT SETd AfdH ||

gedl UaEy faevouriag safd |



=i gfdcar UedEy ‘{_l,agagcdi qaad -

UY: el AW: | 3T AEET A HSIYSIA 50 | 3T A
froar * sfd | 3 Yla: cacufwedley g ARFa |
Reaageavse a1 v sfagEuids: df&d | 3
fAsTUShTTRT FIYSIT darerd: Ied | FSAYS: ¢ gfteea: ' 5T
ufdg: | Gaed gy IAfde: 3nesled | 3 AN daey Yica:
#afd | fafseey 3uR Yseread faied | davd a#Ad: faied a&
Uoodl Aledl | T Gf&iord: gfdsier: aromafa: 3ifed | qa&g W@ e
faTrsta |

AATT  HATdGY e Tdd: HRTd | 9dded A Ffgaad: 3fd |
gdd 9id e qATaRROTH Ald: aeadhl | 9ddid, T4 #e:
3gdied | T 3 THAE G T Hel: e | 3

AN ¢RE Ulgloold UG 3T | 3T Waegdd 3T add |
ydce RIEy Rercar Gaeded eed g% aeFad | 3 ae
fAcaeReart srafd | udaea 3ul gRarfa qonfa aded | 3178F a=
UTET: 8Tcclehl: T Hicd | ATH AN T FAT dgfcd | & &
Afegell 3T | #IGH 39T 3elsh AT Aled | IH AT © fARkAe
Sfefard: faead |

giteca: sfa &: uiag: ?

=



=i gfdcar UedEy ‘{_l,agagcdi qaad -

UY: el AW: | 3T AEET A HSIYSIA 50 | 3T A
froar * sfd | 3 Yla: cacufwedley g ARFa |
Reaageavse a1 v sfagEuids: df&d | 3
fAsTUShTTRT FIYSIT darerd: Ied | FSAYS: ¢ gfteea: ' 5T
ufdg: | Gaed gy IAfde: 3nesled | 3 AN daey Yica:
#afd | fafseey 3uR Yseread faied | davd a#Ad: faied a&
Uoodl Aledl | T Gf&iord: gfdsier: aromafa: 3ifed | qa&g W@ e
faTrsta |

AATT  HATdGY e Tdd: HRTd | 9dded A Ffgaad: 3fd |
gdd 9id e qATaRROTH Ald: aeadhl | 9ddid, T4 #e:
3gdied | T 3 THAE G T Hel: e | 3

AN ¢RE Ulgloold UG 3T | 3T Waegdd 3T add |
ydce RIEy Rercar Gaeded eed g% aeFad | 3 ae
fAcaeReart srafd | udaea 3ul gRarfa qonfa aded | 3178F a=
UTET: 8Tcclehl: T Hicd | ATH AN T FAT dgfcd | & &
Afegell 3T | #IGH 39T 3elsh AT Aled | IH AT © fARkAe
Sfefard: faead |

3T Y TIET HSAYSIT SdTerd: Hed?

Maae

1

) fFearfaae

_ fasmusser

AU ST
4.
Correct Answer :-

.ﬁam-sm



UR=te UTocar U2y ﬂﬁdjlgrdi T -

3y [&fAS AAH aAH? dF 33d- AifasEr geraf=r faeva: A
fa=trete| TrAETd: UeriSITae IOT-EY-Ea#Ig-3g fod- 3T TcT-S1eT-
I Sl STelecdd| fhed I Uerei=l faRISTom Iona+ 3iedyor
Wﬁﬂﬁﬁﬂﬁfﬁ Q]ﬁ?—rﬁgm. sard, d awﬁ? gefed ST |
efeichel fafalel TORET Tawuad gRafdas e amdor Toes
Aledd, Uelolel AlT-ATAH, adl | fIegar vehrer: had, eastie
disded, AR Toded| AT FUAT HAT HIsT: Tehed
BRIEhTeleT ShIRITAT TEAIUT AT SfHeid | Td TARET ST TER
fAREIdr: faATAT| TRRIETUAT AT eIH=TNTT fohdcdl| TdsT Areelsl
3T I AT AR, A, arearta, smyonfa o siq aeef:
| fae=eda uaT g3 AT ge¢ FHAT:, VFR ST
THHN: G ad NRTedl TErraA a’fﬁf AT FHAT: | JUTTETOT-Te 0T
ad FEHATH d{-(:lgcllci gug T | GLAIETUT- AT g AGACTATION
aseHgn: | [ AR docd IRAGH| Tl Hesd: Hgedl el
CIEGHKECRT

HeAel FROIA CET TWEW FodeelT: [Aherepr:-

T E T

oA

2.



19)

6.15 SITT TEHAYAT foheead?

S ELEECICEE



UR=dc Ufdcar Ueaed ﬂr.gdgrdi g -

3ty fopfAE A A™H? a7 32ad- AifdeEr ygrif=r faeva: e
{1 AT 9eSTae IT-EIY-Fefa-Hg fed- 3TN 9219T-
ITTNT S Selecdd| fhed T Uerii=ll fa=ISTom ona+ ieavor
AT & aw faftrser afdd A A9 sfafa, d =Aae agfed S|
3rfeichel faeael HORET Tawuda yRafdas| e arsaur Yedes
Aledd, Ugleled ARI-ATTH q|-§.|__,e.||u1° T\ faegar yepmr: fraa, et
disded, AN deded| (AT FUAT IELAT HIST: Tehel
BRIehToleT ShIRITAT TEAIUT ATAT Hfdeicd | Td TARET ST TR
fAREIhdr: faleA=T| JTRRMEUAT AeeEy GIH=TNYT fohddl| UdlsT Areelel
3T IU TaaEd AR, A, aea, smyonfa o sid aeef:
| f[a=Eda $UAT g FACTANT go¢ FHAT:, TFR ST
TAGHN: TG ad RRTeat aﬁwaﬂﬁra’rsrﬁ@ THAT: | TOTATETOT-ToA0T
aT HEHATH d'{-dodlci gug. T | GUATETUT-TAUT & AGAGTAIOT
GSCHET: | T TATUIRTY docd IRATTH| Tded Holsd: HEcdT AeFcl
gRfEd: 3s7ad]

3ol Aol [9va¥T FATORIE, JIeITf=, sonfel Ad T TIH-

, e
, 3{TeRreraroft
AfETShI=aH

4.

Correct Answer :-

| 3TeRTerETofY



9ol Ufocar srafafésesa ueaea &{__l;gagcdi qaad -

Fafagal AT, Fafaef T gdsherge: |
Fafd MR , FARIGTT o AedleaAwId: |
Fafdd st | Fafaea T feeamerer:, |
Aaed! et o vIfd @ 7 T @ ||

o STl I qv|d4|o1|agqaﬂﬁfrr e |
gTaNT HSUTacHa 87 vaTataed ||

UY: 3T o AF-Tfa |



=i gfdcar UedEy ‘{_l,agagcdi qaad -

UY: el AW: | 3T AEET A HSIYSIA 50 | 3T A
froar * sfd | 3 Yla: cacufwedley g ARFa |
Reaageavse a1 v sfagEuids: df&d | 3
fAsTUShTTRT FIYSIT darerd: Ied | FSAYS: ¢ gfteea: ' 5T
ufdg: | Gaed gy IAfde: 3nesled | 3 AN daey Yica:
#afd | fafseey 3uR Yseread faied | davd a#Ad: faied a&
Uoodl Aledl | T Gf&iord: gfdsier: aromafa: 3ifed | qa&g W@ e
faTrsta |

AATT  HATdGY e Tdd: HRTd | 9dded A Ffgaad: 3fd |
gdd 9id e qATaRROTH Ald: aeadhl | 9ddid, T4 #e:
3gdied | T 3 THAE G T Hel: e | 3

AN ¢RE Ulgloold UG 3T | 3T Waegdd 3T add |
ydce RIEy Rercar Gaeded eed g% aeFad | 3 ae
fAcaeReart srafd | udaea 3ul gRarfa qonfa aded | 3178F a=
UTET: 8Tcclehl: T Hicd | ATH AN T FAT dgfcd | & &
Afegell 3T | #IGH 39T 3elsh AT Aled | IH AT © fARkAe
Sfefard: faead |

REAYSIET {UTcHT: shal Hafd ?
. ATEAE

, ST

EERE: )

ATEUCHTY

4.

3.

Correct Answer :-

ECE



2elleht gfdcar srenfafésera geaea qgecal Yaad -
37T 3oiel & TSI o T&ToT |

3 & oA g 9T 3721T: HECHHT: |

gaoigear gl Reafed qeaea: |

T HelldedRd T ST Afade ||

VA 3T Icag: s1afd |

el gfScar INfAfEsery vty AgHc AT -
37T 3oiet & TH TSI o T&ToT |
3 T A g TEa 3721 HocHHAT: |
gaoigear gl Reafed qEIea: |
YRRT PATAEIRT AT ST Afad ||

UdTded: Je9T: Jaoigsar gedi RAedfed |



4.

dbd

Correct Answer :-

=i gfecar UeaEy gagmi AT -

3y fRfAS fAA=H aA? a7 3Tad- #ifdeEr gerf=r faeva: A
faafeiel| ATHAIT: TeTASIaed IUT-GIY-Ta81d-3g fed- 3T HaaT-
IO J S SAelecdd| e T Uereii=r faISTom Jona# ieayor
Wﬁﬁﬁmﬁfmeﬁ?rwgm‘ safd, d éﬁﬁ% dgied SelT: |
3TefAchel [aele HORET TaEUAT IRATAAH| e STS90T Jeide o
leqd, Aol AlT-ATH, aA | faegdr yeprer: fhad, eastar
dieded, AAR—IHNY Aeded| fTARTET HU 3TELAT FHST: Uched
BRIehTele] ShIRITeAT HEHTOT ATHT i | T THRET ST TEW
fAREIRAT: A HTRRIEATUAT AT GIHANT fohdcd| TdeT ATl
37c a9 faeaey AR, Adrfa, daegifa, smvonfa o siq g
;| [AA=Eda $UAT g JACTANIT go¢ FHAT:, TFR ST
TAHI: TG aT RRTeal aﬁﬂmﬂﬁra’mﬁ@ THAT: | JTOTTETOT-ToA0T
9 gEHIA d{-(:ljoﬂci gug. R | CUATRTUT- T AT G AGATAOT
GSeHET: | T TAIRTY docd IRATTH| Tded Holsd: HEcAT Akl
IR 3137ad]|

TEATHHA- 5 [dcIATT: T -



26)

TREIC IfScdl AT AGHc Fadd -

UY: e AW | 3T AE AH HSIYFIGHA 50 | 3T Ao
fpear * sfd | 3@ yYsINa: caeufddEley gt a1 3@
fenaageavse  3fed | Uy: sfagraui@s: 33IRad | 313
ﬁaﬂusqagalw ERNIETIES carerd: 3Afed | FEAYST: aﬁaﬁa’; ' g
uflg: | ¢aeg g IAIMY: IS ed | O AW ey icaa:
safd | fafageey 3uRk ey [Jued | davy aFd: (vsd a8
UceAl Qedl | OFd Sieiord: gfdefet: omafe: R | Saed qe: aedr
ICEyE

THEET 3l Tl Udd: 3ed | gaaed A1 Jffgudd: sfd |
gdd 9fd aed garfaemRoms eAfd: sfaeadr | 9ddid g5 ez
3gdicd | TEE 37 AT eI I HeoA: TYgAfd | 31
TAGAA. <6 TleaAd S 3T | 319 TaRegdd 3T Tdd |
yaaed fEy feercar QAT T9d a5¢ o ad | 3THE F
fAcgeReant safd | udaey 39t gRarfs gonfa aded | 317EA @t
SUTET: oolehl: T Hiod | ATH HARNT el ACT dgfd | & A
Afeeal 3fd | FAEH 39T 3=t I Fled | IH Faar ¢ RAREe
Sferdrer: faead |

FSAYSITIA F JfET ?

Correct Answer :-

[
IdarenddleloHYsS el



27)

eellehl gfScar IreNfAfsera I Ygaccl YIId -

3TUTATH 37oT §-WH TSI < T&To |
3 g W oI g W O 372l hecasr: |
gauigsar giedl Reafed qEsEa: |
QLT Fclldeded TLT SETd AfdH ||

3720T: Sgerm sfafed |
JSYHAT:
1. -2
_ HSCHAT:
Q:IETE:.W?’ZIT :
3, o |
, STTHA:
Correct Answer :-

AT



UR=dc Ufdcar Ueaed ﬂr.gdgrdi g -

3ty fopfAE A A™H? a7 32ad- AifdeEr ygrif=r faeva: e
{1 AT 9eSTae IT-EIY-Fefa-Hg fed- 3TN 9219T-
ITTNT S Selecdd| fhed T Uerii=ll fa=ISTom ona+ ieavor
AT & aw faftrser afdd A A9 sfafa, d =Aae agfed S|
3rfeichel faeael HORET Tawuda yRafdas| e arsaur Yedes
Aledd, Ugleled ARI-ATTH q|-§.|__,e.||u1° T\ faegar yepmr: fraa, et
disded, AN deded| (AT FUAT IELAT HIST: Tehel
BRIehToleT ShIRITAT TEAIUT ATAT Hfdeicd | Td TARET ST TR
fAREIhdr: faleA=T| JTRRMEUAT AeeEy GIH=TNYT fohddl| UdlsT Areelel
3T IU TaaEd AR, A, aea, smyonfa o sid aeef:
| f[a=Eda $UAT g FACTANT go¢ FHAT:, TFR ST
TAGHN: TG ad RRTeat aﬁwaﬂﬁra’rsrﬁ@ THAT: | TOTATETOT-ToA0T
aT HEHATH d'{-dodlci gug. T | GUATETUT-TAUT & AGAGTAIOT
GSCHET: | T TATUIRTY docd IRATTH| Tded Holsd: HEcdT AeFcl
gRfEd: 3s7ad]

sifaTT gerd=r fJevda: AHdAg---—--

. sitqereTHq

2. = =



qid

U

4.

Correct Answer :-

2.
ol
3.
N Ucd:

Correct Answer :-

Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye, then the power of the corrective lens should
be: /

IR 1§ =T 3ol wfw ¥ 5 Aex ¥ 7T g W RuT v avg F @S A wawr A ¢, O Www AW Fr T e
aifew:

1.-0.2D

Correct Answer :-

« -0.2D

2) What is roughage? / &Tier F4T gl 87
1. Vegetables / gfearal

2. Grains / 3TaTal

3. Fruits / ol

4. Food fibre / YRS 3T

Correct Answer :-

« Food fibre / IR STl

3) What is the principle behind the ball bearing? /



afer qafer & S T Rgwia ¥

1. Sliding friction is greater than the static friction. / fF&eleT gy, TfaF a¥or ¥ 30w g

2. Rolling friction is greater than the sliding friction. / Tfelar YT fhgelel arel TY¥oT ¥ 31 8iar B
3. Rolling friction is less than the sliding friction. / QfaaT gYuT paelel arel OY0T & &F BT &

4. Friction increases the speed of rotation. / E¥0T & e & 1fa 5¢ T &1

Correct Answer :-

« Rolling friction is less than the sliding friction. / ¥ 9T T¥T PAeY arel OYuT ¥ HE grar gl

4) What are the crops grown during the rabi season? /
@t AR F e Fl @ wae Fon$ I {2

1. Blackgram and soya bean / &Tel ==Y 3R &=r i
2. Wheat and mustard /TJ’IEw 3R Tar

3. Maize and pigeon pea / #dl 3R R

4. Paddy and cotton / &ITeT 3R &arg

Correct Answer :-

« Wheat and mustard /?’IEW 3R Tat

5) sickle cell anaemia is a disease that is L

& FIRNFT 3RFAT TF AR ¥ A Al &1

1. infectious / TshTHE®

2. developed through vectors / fﬁ'la'l%ih' & #regd ¥ foefaa
3. inherited / EW

4. non infectious / IR THHASH

Correct Answer :-

« inherited/ 341@3%

6) Stainless steel vessels are provided with copper bottoms because: /

AW i F T 99 F MUK F a7 R I § F=4ifF:

1. It gives a good appearance to the vessel / T el &l 3ToT fe@rar |

2. Stainless steel is a better conductor than copper/!-_aFlﬂ'H T, die &r Jefell H G FIG'I%?F %’I
3. Copper is a better conductor than stainless steel | PR, TATT T Hr Jefell H JgR TaEsH &l
4. Copper expands more than stainless steel / IR, T&TAT T ST 3T98T 37TF therar T

Correct Answer :-

« Copper is a better conductor than stainless steel/a?T'qT, T T &Y JeleT H dgcd¥ Q-idlsch ?l

7) When a light undergoes reflection, the velocity of the reflected light is always: /
9 v grer gfafda & qoar §, wfafifea g@rer #1 a9 wda 7% Qe ¥
1. Less than the velocity of the incident light / AT 9T & 99T H A

2. Equal to the velocity of the incident light / Ifad 9Tl & a9 & FATT

3. Greater than the velocity of the incident light / 3mafad 9T & 997 A



4. Depending on the material of the reflecting surface / Ufafsfad ddg & UG F ¥ AR ar g

Correct Answer :-

« Equal to the velocity of the incident light / AT 9Tl & d9T o FAT

8) Select the correct unit of energy in terms of the unit of current. /
fega # 551§ & west F AT F W FHFE F1 AAT F

1. VAs

2. VAZs
3. V2As
4. VAs?

Correct Answer :-

* VAs

9) Which of the following is not the unit of work? /
fAmfaf@a & @ 1 F1F A 318 a6

1. Newton metre / #g&s1 HieX

2. Joule / SieT

3. Erg/ QT

4. Joule/second / TQ/AHS

Correct Answer :-

« Joule/second / Trj;a/@%

10) Electroscope is a device used to: /

FAFERHIT IYFIVT HT 39T Fw v BFar smar @

1. Test the conductivity of a material /

T AHIAT HT ATeRdT H IAETT A h o
2. Measure the current in an electrical circuit /
fdega aRuy & arr &t A & fov
3. Measure the voltage across an electrical appliance /
T Tdegd 3U0T 8T A dleest S A9 & v
4. Detect the presence of electric charge on a charged body /

T ARG Ay w faegd smawr & sufeufd &1 gdr e & foe

Correct Answer :-

« Detect the presence of electric charge on a charged body /

T AT fAhrr o« faegd maer i sufeufd & gdr e & foe

11) Earthquakes can never cause: /

HFT & FROT F1 Y g7 7 & weham:

1. Lightning and thunder / af3ad 3R Aeereia
2. Tsunami / W

3. Landslides / HTGolel



4. Flood /dTg

Correct Answer :-

« Lightning and thunder / af3d 3R FereA

12) As mass is related to beam balance, the temperature is related to: /

O vR gegae die dqee & WEfla @iar 8, 38 TR aveEe § wafta @
1. Kelvin / shfeast

2. Barometer / SRI#HET

3. Thermometer / JATHET

4. Heat / AT

Correct Answer :-

« Thermometer / ZHAfHET

13) The correct statement among the following is: / %7 & @ T Fu«T &

1. Dry ammonia has no effect on litmus paper / >R AT #r foeaw T W aﬂ‘é T AT 98T
2. Curd is basic in composition / E.'Eﬁ' AT 7 e %’

3. Solution of glucose in water is acidic /gre & Tﬂjﬁlﬁ F1 FegeT 3T %}

4. HCl is a weak acid / HCl U ool 31Fdl ©

Correct Answer :-

« Dry ammonia has no effect on litmus paper / AqSh AT & feAd IR W S T FgT 985ar

14) The amount of heat produced in a metal wire depends on the: /
TF U] F A% A 3cafed FwAr f A e w e wl
1. Atmospheric pressure / EI'I'?:I'UE@'J arsd

2. Atmospheric humidity / W 3TeAr

3. Atmospheric temperature / W GISEIC)

4. Current passing through the wire. / R & Jalgd &RT W

Correct Answer :-

« Current passing through the wire. / dR ¥ JaTgd &RT W

15) Sugar can be extracted from its aqueous solution by: /

o 77 s T A @ g AR AR Bt R o
1. Chromatography / SRICIITHT

2. Distillation / 3THdeT

3. Evaporation / arsdIenior

4. Filtration / foredeeT

Correct Answer :-

« Evaporation / GTSHIeRIoT

16) Magnitude of displacement in one second is called: /



TF FFs A @ I RAEya & aR&Aor F Fgr I1ew §:
1. Acceleration / ca3oT

2. Momentum / 371337

3. Speed / ATl

4. Force / §el

Correct Answer :-

o Speed / dTel

17) Calculate percentage of nitrogen in ammonium sulphate. /
HANATA Tohe H ABeSd F Ifaad S A0 FI

1. 28%

2.36%

3.6.02%

4.21.2%

Correct Answer :-

o 21.2%

18) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an oxide. What will be the correct formula of the
oxide?
[Atomic masses: S =32 u, O = 16u] /

Few AR JfFdee WA wF AR T F AU gead qanr 2:3 & Hequid # vE q@y F WY §AfT @ g
FFATFS FT WE TqF FAT g?

[RATI] GAATA: S =32 u, O = 16u]
1.5,05
2.5;0,
3.50,
4,50,

Correct Answer :-

. SO3

19) Which type of energy transformation takes place when fuel is burnt? /

§ee ST S 9T FFH TR FT FoiT FICT 2T &2

1. Chemical energy is converted into heat energy. / A ﬁ‘f, I Far & gRafda ET STdr %’I

2. Chemical energy is converted into mechanical energy. / JRITTToIeh Soil, TS Foir & gRafda g ST g
3. Heat energy is converted into chemical energy. / FSHIZ Soll, TEATAS FaiT H gRafda & s §1

4. Heat energy is converted into mechanical energy. / FSHII Fail, AT Foif 7 IRATd & ST &1

Correct Answer :-

« Chemical energy is converted into heat energy. / JTETfeieh Soll, FSHT Far & gRafdd g Sy 2l

20) Which one of the following will take the shape of an open container in which it is kept? /

famafaf@a # & #91 & gA T F WA W IHH AHER A A2



1. Lemon juice. / F—ﬁ?j\ &I M|

2. Ice cubes. / &% & g@?l

3. Chilly powder. / =T II3sR|

4. Oxygen gas. / 3Tl 39|
Correct Answer :-

« Lemon juice. / c‘-ﬁ"@[\ &l 9|

21) Which of the following is weed. /
famfaf@a & & w7 @vvaar B
1. Xanthium only / Fad JATAIH
2. All the above / 390 T

3. Grass only / shael o1

4. Parthenium only / sae grffagsr

Correct Answer :-

« All the above / 3Ued AT

22) Which is a set of transparent material? /

TRt @A F1 wF de FiA-ar E?

1. Water and air / 91t 3R gar

2. Turmeric powder and water / geal 938< AR Ir=AT
3. Alum and water / fhea{l 3R relr

4. Charcoal and water / TRepTel 3R I1=AT

Correct Answer :-

« Water and air / 9TeT 3R gar

23) One of the statements made about the formation of soil is inappropriate. Identify the same. /
ficd & faor & aR & Re v Fy=t # ¥ ww 3R 31 3T Fu= 7@ ;W
1. Strong winds do not play any part in the erosion of rocks. /
JT gATT T & Ferd H FS sfAF AT e
2. Fast flowing water carries big and small rock particles and these rub against other rocks. /
AT F&aT U, 93 3R O gcerd SUlt A of ST § 3R T 3T aceE & WS AT ST gl
3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes, it would widen the cracks./
FEAW AT F SN Tl TCeE F QW F Gl g8 A § T I A7 S § A SHY W AL gy e F
4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same time, cracks are formed and rocks break up. /

IS & §US H 3 & HROT, Al & walt Gedl &1 qwror 767 giar § 3K @A d & @t a1mer i A o g F FRor
&N & el § 3R "eern ge e €

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /
dST AU <TeeTAl & FHerd 7 HS AT A& o §

24) is used for making mirrors. /



o i b e & v R S
1. Silver / @iér

2. Carbon / el

3. Sodium / |f3TH

4. Sulphur / HeHY

Correct Answer :-

« Silver / @ty

25) Which acid is used in Storage Batteries which supply electrical energy? /
Rgga Fat 1 i F arelt weRer delat & Brw sva &1 39 @ar ¥
1. Nitric acid / A8 37T

2. Hydrochloric acid / gTsgiaraliiker 37%el
3. Acetic acid / TEifes 315

4. Sulphuric acid./ SeFgRe 3Fd

Correct Answer :-

« Sulphuric acid./ FeFIRe 3HF

26) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow down the oxidation of oils and fats? /

A AR o F q@ U Gy v & cenlRes A F aw Ak Fwn & siwdwor w1 oo w9 F O B e @ wla B s @
1. COy

2.50,
3.Ny
4. Hp

Correct Answer :-

27) What is the common name of chemical NaHCO;3? / THRIfA® NaHCO; &T WA ATH 4T §?
1. Lime soda/ﬂ;ﬁ FT TIST (SH A3

2. Washing soda/%?ﬂ'é’ T TIST (STTRAT T3

3. Caustic soda / FIfeceh ST

4. Baking soda / @TeY T &7 (SfHaT A3

Correct Answer :-

. Baking soda / @TeY T FYST (SfhaT A3

28) What is the name of the ion with the formula C103~? /

A ClO;~ Tl T 3TAT T AH 4T 87
1. Perchlorate / TRFAIRT
2. Hypochlorite / gT8UlFaRISC



3. Chlorate / FdRE
4. Chloride / FIRTSS

Correct Answer :-

. Chlorate / FRE

29) Which of the following is a disadvantage of improvised science lab apparatus? / FfefET & ¥ sla @
arcifas A gaeremer 3yt 1 g §2

1. Easily available / 3THT & 39cTsd]

2. Provides cheap alternative raw materials / G€S dehfoush ed AT UaTd ldl %’I
3. Have good educational value / 37eaT fate AT gl
4. Not durable / ICaRD a‘-|'(ﬁ'

Correct Answer :-

« Not durable / RHTZ ET

30) Which of the following abilities is not a characteristic of a scientific problem solver? / ffaf@a & & i
H araT dfas FHEEAT g F arer F RAdvar AE

1. Validation of results / GRUTTHAT &7 JHTONEHIOT

2. Isolate and control the variables / RT Fl EBEF IR RIRT FEr
3. Convergent thinking / 3f&@RT RideT

4. Think aloud / el faaR <geFd =TT

Correct Answer :-

. Convergent thinking / 3IfRART RideT

31) Which of the following is an example of inference? / fAFIfaf@ad & ¥ =la @1 AT (EhT) FT TH
3TEI0T B2

1. Cactus has modified leaves in the form of thorns. /’q‘v_q'_d'ﬂ H el & ¥ & TUdRd gfaar Elél %I
2. Tides are caused due to the moon’s gravitation. / SA-HATCT TGl b W % HROT g gl

3. Electrolysis of water produces hydrogen and oxygen gases on two different electrodes. / STel hl ﬁ'c‘({laﬁ 39gc ar
3OTT-37019T SolaeIsl W grssietel 3R 3ifeiieter St &1 e &ear g

4. Electrical appliances only work when supplied with electric current. / %?.‘[{I)T—T 3YEUT had dd HT I g o F
fdegd varg & @y Y H S g

Correct Answer :-

. Tides are caused due to the moon’s gravitation. / SdI-#TCI TGl B m % HROT g gl

32) Identify the lustrous non-metal. /
TAFER U T Igar F|

1. Phosphorous / BIAHIRE

2. Carbon / &HIeaT

3. lodine / TSI



4. Sulphur / o™

Correct Answer :-

. lodine / 3RS

33) A pendulum makes 20 oscillations in 10 seconds, then the period and frequency of oscillation are
respectively /

UF YgaH 10 A%s H 20 dd FaT §, A o A 3R R iy Faer:
1.2s & 2 s hertz
2.28 & Y2 hertz
3.%2s & V2 hertz
4% s & 2 hertz

Correct Answer :-

« o5 & 2 hertz

34) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are non-essential. What are essential amino
acids? /

HfaF T ¥ Icqee gl arel TAA e 20 WER F g §1 5 § 9 AT AR 11 IHAraeqF g §1 HaewF: ufden
IFT FAT BT §?

1. It must come through diet/ 38 3R &7 BEAT glAT ATRT

2. It is made in our body / SH&T HUT AN W F BIar &

3. It is more important than non-essential / J§ 3ATGTH oh Fold TR ﬂ%ﬁ'ﬂ?‘f LR
4. Essential for body / TRR & oW sazges

Correct Answer :-

« It must come through diet/ 38 3ER &l AT gl AT

35) When we strike the membrane of a mridangam, the sound we hear is the sound produced by
the -/

9§ AL A Beah W weR X &t g7 A el goa ¥ 9w ZarT AT« #
1. membrane only / hadl Bealr

2. the drum stick / 37 &

3. whole body of the instrument / STEHT &l q (GEaD)

4. body other than the membrane/@ﬁﬁ' & 3dTar A

Correct Answer :-

« whole body of the instrument /31—“5@-]?.’ T g IGEIR)

36) If the secondary consumer receives 10 KJ of energy ,what would be the energy at the level of producers ? /

Tfg fedae Suvier 10 fraisa Sl Ui T 8, 9 SATRD! b TR W St fdas-it grir?
1. 1KJ/ 1 ferairsrer

2. 1000 KJ / 1000 fereirsfer

3. 10,000 KJ / 10,000 feheitsfer

4. 100 KJ / 100 ferelrsfer

Correct Answer :-



« 1000 KJ / 1000 ferelioyer

37) An electric current of 2A is flowing through a conductor for 10 minutes. What is the net charge of the conductor?/
10 fere & AT vw WA & Aeaw @ 2A 1 Rgga av yaria @it ¥1 wawes &1 qey maw fraer
1.20C

2. 1200C

3.0.02C

4.0C

Correct Answer :-

38) When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km. When the watch shows 8.40 am, the
odometer shows 8500km. What will be the speed of the car? /

Ife Hars uSt Ya§ F 8.10 I9 BT YUY STl & MR IH JUY aTe FT 3siiiey 8484 fHift. R@mar g1 aR vt gag &
8.40 I3 &1 JHY fe@Tdt @ 3R Nsiier 8500 frt. fearar 8, @ &R & et fpa- ghft?

1. 64km/h / 64 TRaT/EeT
2. 32km/h / 32 TRa/EET
3. 16km/h / 16 ToRaI/EeT
4.18km/h / 18 feRat/aer

Correct Answer :-

« 32km/h / 32 fRsi/Eer

39) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /
220V, 50Hz Tt &Y 110V S # ulkafda forar smar 81 SRi #t emafr &:
1.25Hz

2.50 Hz

3.220 Hz

4.0 Hz

Correct Answer :-

« OHz

40) Four different liquids such as mercury, water, soap solution and honey are kept in four different vessels. Which of them will
show greater temperature? /

TR 3ITT-3EAT YT F TR S URT, U, g fAera ofiR Uee &) TR avT-3(eT So- § @71 S1dT § 1 379 | HH-97 SHfe arqar=
fReamgm?

1. Honey / QT8¢

2. All will have the same temperature /m?r hl HHATA dTYAHTT EﬂTIT
3. Mercury / 9RT

4. Water / 9TaiT

Correct Answer :-

« All will have the same temperature / G8T T FATA JTIATA gl

41) Human ear can respond or sense the sound which has a frequency range /



AT FA, tafr F oI A1 39 W Gfafear & gwar ¢ Sradr smgfr Soft gl &
1.2 Hz to 20 Hz / 2 §&T & 20 §¢oF o

2. 2Hz to 20 kHz / 2 &1 & 20 foheilgest as

3. 20 kHz to 20,000kHz / 20 freligest & 20,000 fhelgesT deh

4.20 Hz to 20 kHz / 20 g & 20 foheligdst de

Correct Answer :-

« 20Hzto 20 kHz/ 20 g¢oT & 20 fhellgdst a&

42) Identify the component of the biosphere that is biotic /

Aquved & AT UeF B UgaE BT
1. Soil / JaT

2. Air / BdT

3. Living Things / SHfad awq

4. Water / STeT

Correct Answer :-

« Living Things / Shfad a&qd

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

Sftal &1 P AT W W T T HUTH 81 o2

i. Hew, Ty, Tes, fegr, e

ii. 9T, R, T, WA

iii. 7O, Wa®, fegr, et
iv. TTY, I, 919, Af$ar

Liandiv/i3MRiv
2.iandii /i 3R ii
3.iii and iv / iii 3R iv
4. ii and iii / ii 3R iii
Correct Answer :-

« i and iv / i 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
et gaie ok syl gui & S a9a $1 3R T fha @

1. Half minute/ 3mem fAee

2.2 minutes /2 A<

3. 5 minutes / 5 fReTe

4.2 seconds / 2 ¥hs

Correct Answer :-

« 2 minutes/2 fAac



45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of four trophic levels what is the energy
available to the fourth trophic level? /

WU (3MMelF) Sl & 10,000 fFrarare &) Txafid Hra &1 afe @ guen & IR NidEar (Sih®) WX gid € af 9y
qifdwdr (ciftre) TR WR Kot fba- gl 82

1. 1KJ
2. 1000KJ
3. 100KJ

4, 10KJ

Correct Answer :-

« 10KJ
46) Technology should be used asa________ by the teacher for teaching-learning process. / Rreqor-arfermy
T FRU T REEFIRI_ w03 M o1 ST ue e e T

1.tool / 3YUT (gel)

2. subject / fawT

3. substitute for teaching / fRreor & 1%1'@ EIEIP)
4. driver / el (SIFAR)

Correct Answer :-

+ tool / 3THITT (gel)

47) puring World Wars, massive industrial progress occurred. This shows that: / ﬁ'%{ g@‘r * a?'l:l, H@' TR W

3NN wifa g5 1 g ewifar @ f:

1. Science responds to the needs of society. / Ta=iTe, THATST hr JMARISHATT T gfAfehar T gl
2. Science responds to the desires of society. / fTaaTeT, TATST T gTa13T T wfafhar ¢ar g1

3. Science works for the benefit of society. /ﬁ?ﬂﬂ, AT & oH & [T T Har %’I

4. Science brings progress to society only. / Ta3e, hdel THTST H WIITd ATT gl

Correct Answer :-

. Science responds to the needs of society. / =T, THATST &I IGLISRATT S Ffafshar ¢ar gl

48) A law describes a/an ./ T oW, e 1 qui BT 2|
1. set of interconnected principles / ITEIT ﬁ'c{f-l'l?ﬁ FT T

2. abstract idea / 3-1'34‘\?-? faa

3. single phenomenon / Tehel ©TaT

4. set of phenomenon / YcHl F e

Correct Answer :-

- single phenomenon / Tehel UAT

49) Which of the place is more safe at the time of lightning? /
afsa & wog i @ s Hfes wha 2
1. Open fields / Eil}\f &



2. Open vehicles / Eil_?f drgel
3. Inside a vehicle with all windows and doors shut / T8 T@sfRal 3R eIarar 9 are aga & AR

4, Elevated place / 3aT T

Correct Answer :-

« Inside a vehicle with all windows and doors shut / T f@sfRat 3R exarar d¢ arol dgeT & MR

50) Using a science park visit is an example of : / a3 T B! GTAT BRI, 39 AFATH BT TP I8 e
1. Experimental learning / 9TaIf3Teh 31f&rere

2. Collaborative learning / TEANIMcHS TITH

3. Analogy strategy learning / ATE2T 0TI 3T

4. Rote learning / o€y Jf&eTH

Correct Answer :-

. Experimental learning / Jrafateh 3if8emsr

51) Formulating policies, monitoring the effects of policies, enforcing compliance with the policies, demonstrating
accountability, making comparisons and monitoring progress towards goals are conducted at: / Aifaar CoIGIA

At & wemat A PRl wten, Afaat F1 sreares owey F, SaEed Teitia FEr, gaar e 3R
J&dt F 9fa garfa i [ Far T8t W Ao R I §

1. District Levels only / &hdel foell TRT W
2. All of the above / 3uerd Hefr
3. National Levels only / hael TS FRT ]

4. State Levels only / dhdel 1Y TR I

Correct Answer :-

- All of the above / 39 &8t

52) An advanced technique to improve thinking and problem solving-skills comprises of decomposition, i.e.
breaking large problems into small units, is known as: / T 3R 9T B Wﬁ P Pivra A JUrR PP
fore, o I9d do-ie § faae IHRRE § ar P Sl sesal A gt gune &1 disH, 39 A ®er
ST B:

1. Context-Based Learning/ T&dT-3menRa 3iferere
2. Computational Thinking/  3TTRerelsITcH® Ride
3. Crossover Learning / %"maﬂrﬂ 37feerH

4. Embodied Learning / AfeaAtad 31T&eme

Correct Answer :-

. Computational Thinking/ ~ 3THeheleTTcas RidsT

53) Evaluation can be done for all of the following objectives, Except: / * ﬁlﬂTQ', ﬁ'ﬂﬁ'@ﬂ It
IRl & T geaie- far o o g1

1. To know about the learning gaps in students. / & A H ARIA ARl & IR H SATedat

2. To identify the students who require remediation. / 3T STAT HI TgdTeT HFLAT foleg IUTR HI AT ¢



3. To get evidences to know the extent of a student’s learning. / foodt 3= & ST Bt a1 I & ﬁﬂ'\f THTOT UTT A
4. To give performance feedback to students. / EIEIE:D EIE"\’T:[ R yfafesar a4

Correct Answer :-

. To identify the students who require remediation. / 35T BTAT FI UG I Toleg 3TAR P IETRAT &

54) Which of the following should a teacher avoid while encouraging students to develop problem solving skills? /

W&W%Wﬁﬁ?ﬁﬂmﬁ%mmﬁmmﬂﬁrwﬁmﬁ%mﬁ
CEC| ?

1. Provide prescriptive hints to students. / STAT &1 fACLTcHAS Hhd UeleT HaAT|

2. Encourage students to question. / Sl B 99T el o TolT AlcdTigd HelT|

3. Design various types of problems. / AEITIN & fafdHest YR FI TS AT

4. Design problems to generate cognitive conflict. / HAATCHS TUY 3¢9 el & forw goeam fSSgsr e

Correct Answer :-

. Provide prescriptive hints to students. / STAT &I [H¢ATcHS Hohd TeTd HaT|

55) Elephantiasis is caused by: /
Hrerdia @7 & FROT @ar &
1. Worms / &8

2. Mosquito / ATST

3. Protozoa / WeTSII3T

4. Bacteria / SSFCIRAT

Correct Answer :-

« Worms /&g

56) Megha scores well in physics. Sneha is equally good at the subject but is unable to score well in school. She is most
probably lacking in ./ AEr F S 7 e 3F wred Rl e ot 3w Ry # st 3 & e &
afrer Ry # =S 3% Tvad T F @AY ) waa: T # 9§ FAAN B

1. Conceptual knowledge / TehoTellcHeh ATel

2. Procedural knowledge / gfshdTcH s AT

3. Factual knowledge / d2qTcASD Tl

4. Metacognitive knowledge / AT ATATCHS Te]

Correct Answer :-

. Metacognitive knowledge / AETHATATCHS Tl

57) Which of the following statements reflect a shift in pedagogy after implementation of NCF-2005? / TTHITE-2005
* FRATeadaT F 92U RAEAfaf@a & ¥ i @1 FyT Remeres F geaT F gt 82

1. Teaching should focus on specific disciplines./ {18701 &t faferse fawat o eareT Hfgd Har afge
2. Assessment should be continuous. /3-Ti'5h_<~|?-f IGEGES @HT ol ?Q |

3. The teacher guides and monitors the class. / TeTR e T AR 3R Adeqor FHIar %’I

4. Written tests are the only method of assessment./ﬁ'@?—f qffiﬁT, 3Teholed &1 ThHATT Afer %’I



Correct Answer :-

« Assessment should be continuous. / 3ol fAa @HT ol %Q |

58) Which of the following is false about audio tapes as teaching aids? / fAFafaf@d & ¥ Fia fAsTor Ao &
T F FEA 2T & RuTr & 7 &2

1. They can be reproduced easily. / 3eg 3T & ECE qer fohaT ST FehelT gl
2. They are portable. / I gareg (tﬂé_dﬁ) HGRY

3. They are expensive. / & Hgdl &I gl
4. They can help visually impaired students. / & TTSCATIT BTAT T FAGE HL Tohd gl

Correct Answer :-

. They are expensive. / & HgI &I &l

59) Which one of the following Organic acids is present in Spinach? /
i@ # & #i9 1 Fefas 37, 9oF § 9T Jier §2

1. Tartaric acid. / TRER® 3+

2. Malic acid. / Afel 3|

3. Citric acid. / @Tsfeed 35|

4. Oxalic acid. / 3ffFaTferd 3|

Correct Answer :-

« Oxalic acid. / 3iTearfole 3|

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /
AN TS TF 3 B, T 3¢ AT I AN 30F WER F agad A waH g1 F=4N?
1. Particles in sponge are closely packed. / TS & HUT THITY §¢ & gld gl

2. Sponge is a pseudo solid. / TIST Teh BoH T &

3. Sponge is a super cooled liquid. / T T 3fa-efider ga gl

4. Sponge has small holes with air trapped in them. / TIST & BIE-BIC el & gar wdr giar gl
Correct Answer :-

« Sponge has small holes with air trapped in them. / TIST & BIC-BIC Bl & &aT waT giar gl



